
5746 5746.5 5747 5747.5 5748
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

20.2

20.4

20.6

20.8

21

21.2

21.4

21.6

21.8

22

22.2

22.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

2.5−

2−

1.5−

1−

0.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

6205

6205.5

6206

6206.5

6207

6207.5

6208

6208.5

6209

ru
n

run:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6207}



5746 5746.5 5747 5747.5 5748
cyclenum

81.5−

81−

80.5−

80−

79.5−

us
l_

1X
usl_1X:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

2

2.5

3

3.5

4

us
l_

4a
Y

usl_4aY:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

37.2

37.4

37.6

37.8

38

38.2

38.4

38.6

38.8

39

39.2

39.4

us
l_

4e
X

usl_4eX:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

16.6

16.8

17

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
l_

12
X

usl_12X:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

6205

6205.5

6206

6206.5

6207

6207.5

6208

6208.5

6209

ru
n

run:cyclenum {run == 6207}



5746 5746.5 5747 5747.5 5748
cyclenum

133−

132.5−

132−

131.5−

131−us
r_

1X

usr_1X:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

5.5

6

6.5

7

7.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

211.6

211.8

212

212.2

212.4

212.6

212.8

213

213.2

213.4

213.6

213.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

9.2

9.4

9.6

9.8

10

10.2

10.4

10.6

10.8

11

11.2

11.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

43−

42.5−

42−

41.5−

41−us
r_

12
X

usr_12X:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

6205

6205.5

6206

6206.5

6207

6207.5

6208

6208.5

6209

ru
n

run:cyclenum {run == 6207}



5746 5746.5 5747 5747.5 5748
cyclenum

20321

20321.5

20322

20322.5

20323

us
l_

co
il1

usl_coil1:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

3207.5

3208

3208.5

3209

3209.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

4473.6

4473.8

4474

4474.2

4474.4

4474.6

4474.8

4475

4475.2

4475.4

4475.6

4475.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

407−

406.5−

406−

405.5−

405−

us
l_

co
il6

usl_coil6:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

2770

2770.5

2771

2771.5

2772

us
l_

co
il7

usl_coil7:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

6205

6205.5

6206

6206.5

6207

6207.5

6208

6208.5

6209

ru
n

run:cyclenum {run == 6207}



5746 5746.5 5747 5747.5 5748
cyclenum

18273.5−

18273−

18272.5−

18272−

18271.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

2590−

2589.5−

2589−

2588.5−

2588−us
r_

co
il3

usr_coil3:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

4485

4485.5

4486

4486.5

4487

us
r_

co
il4

usr_coil4:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

601−

600.5−

600−

599.5−

599−us
r_

co
il6

usr_coil6:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

34243.5

34244

34244.5

34245

34245.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

6205

6205.5

6206

6206.5

6207

6207.5

6208

6208.5

6209

ru
n

run:cyclenum {run == 6207}



5746 5746.5 5747 5747.5 5748
cyclenum

293.8−

293.6−

293.4−

293.2−

293−

292.8−

292.6−

292.4−

292.2−

292−

291.8−

291.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

20−

19.5−

19−

18.5−

18−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

313.5

314

314.5

315

315.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

314−

313.5−

313−

312.5−

312−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

41.8−

41.6−

41.4−

41.2−

41−

40.8−

40.6−

40.4−

40.2−

40−

39.8−

39.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

260

260.2

260.4

260.6

260.8

261

261.2

261.4

261.6

261.8

262

262.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6207}



5746 5746.5 5747 5747.5 5748
cyclenum

197

197.2

197.4

197.6

197.8

198

198.2

198.4

198.6

198.8

199

199.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

50.6

50.8

51

51.2

51.4

51.6

51.8

52

52.2

52.4

52.6

52.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

18.8−

18.6−

18.4−

18.2−

18−

17.8−

17.6−

17.4−

17.2−

17−

16.8−

16.6−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

205.5

206

206.5

207

207.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

3.5−

3−

2.5−

2−

1.5−

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

17−

16.5−

16−

15.5−

15−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6207}



5746 5746.5 5747 5747.5 5748
cyclenum

231−

230.5−

230−

229.5−

229−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

85−

84.5−

84−

83.5−

83−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

2−

1.5−

1−

0.5−

0

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

8.6

8.8

9

9.2

9.4

9.6

9.8

10

10.2

10.4

10.6

10.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

490−

489.5−

489−

488.5−

488−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6207}

5746 5746.5 5747 5747.5 5748
cyclenum

6205

6205.5

6206

6206.5

6207

6207.5

6208

6208.5

6209

ru
n

run:cyclenum {run == 6207}
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